
1) Convert the following mixed number 
49/6 to an improper fraction.

Answer: ____________

2) Find the mode of the following set of data:

10, 10, 10, 7, 7, 9, 9, 9

Answer: ____________

3) 2/
9 ÷ 7/7

Answer: ____________

4) Simplify 10:3

Answer: ____________

5) Decrease 20 by 35%

Answer: ____________

6) 30 ÷ 10

Answer: ____________

7) What would you multiply by to 
increase an amount by 64%?

Answer: ____________

8) (-28) ÷ 7

Answer: ____________

9) 1% of 14

Answer: ____________

10) 3/
1 ÷ 2/5

Answer: ____________

11) Write 8 x 104 as a normal number.

Answer: ____________

12) 6 + 2

Answer: ____________

13) A number is chosen at random from 
1 to 10. Find the probability of 
selecting multiples of 4 and 4.

Answer: ____________

14) Increase 210 by 1/105

Answer: ____________

15) 2/1 x 3/10

Answer: ____________
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16)

'Name the type of angle.

Answer: ____________

17) 22/3 ÷ 44/8

Answer: ____________

18) Find perimeter of 
square having each 
side (s) equals 2 ft

Answer: ____________

19) Increase 102 by 2/51

Answer: ____________

20) 80 ÷ 10

Answer: ____________

Total: ___ / 20
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Answers:

1) 11/2 2) 10 3) 2/9 4) 10 : 3 5) 13 6) 3 7) 1.64

8) -4 9) 0.14 10) 71/2 11) 80000 12) 8 13) 2/5 14) 212

15) 3/5 16) Obtuse 17) 16/27 18) 8ft 19) 106 20) 8
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